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(Formal Logic)

Time : 2 Hours Maximum Marks :- 50
(Write your Roll No. on the top immediately on receipt of this question puper.)

Note — () Answers may be written either. in English or in
Hindi; but the same medium should be used

throughout the paper.
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(i) The maximum marks printed on the question paper
-are applicable for the students of Category ‘B’. These
marks will, however, be scaled down proportionately
. in respect of the students of Regular Colleges (Cat. ‘A’)
at the time of posting of awards for compi_lalion of

result,
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Attempt All questions.
it Er!r-h # s ey
Distinguish between any one of the following : 5
frfafea 4 @ fodt @ # 92 sifvw .
()  Truth and Validity
wo iR dea
({)  Argument and Explanation
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2 | Explain and illustrate three basic functions of language. 5
arer & W g HE B I afea “6*11‘@! Fifo)

3. {a) Write a short note on any on¢ of the fqllowing : 4

frefefen § @ el T W el

fafed :

o

() Fallacy of Composition
A A
(I Fallac§ of 'Equivocation
sAFdE A |
(b) dentify and explain any one fallacy : 4
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The Supreme Court practices a strict irit;:rpretation
of the Constitution. 'i‘herefore, Justice Verma who is
the member of the Court, practices a sn;ict interpre-
tation of the Consti!u‘tion.
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There is no proof that the secretary leaked the news,

$0 it could not have been the secretary who did

it.

LT g g S SN
ﬁﬁﬁw-wﬁaﬁ&ﬁm ﬂﬂﬂfﬂa
I @ T



L5 7061

{(a) Reduce the following propositions into their standard form

(5)

and give their contrapositive (any two) : 6
frefafas w9l N 79F SR § awaEl T
yhrofada F:ifae (8 @)

(4 Not every artist is educated.
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(i) Hardworking people seldom fail.
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" (iif) Nurses are never rude.
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Write a short note on the following (any one) : 3
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l(:’) " Disjunctive Sy!ldgism
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{if) Dilemma
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if “All logicians are mathematicians” is true, what can be
inferred about the truth and falsity of the following

propositions - 4
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THARFl WA/ AGGA T AR 'amsq :
() Some non;mathematicians are not non-logicians.
(i Somle logicians are not mathematicians.
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Use Venn diagram technique to determine the validity/

invalidity of the following (any one) : 2

(D AAA-2
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Arrange the following syllogism into standard form, name

its figure, mood and test its validity (any one) : 6

frafafeq afa W TR WieE TR H
aafer, T A qE STHR TaEY AUl du H
ﬁaﬁm_(ﬁ@) :

(7 Some philosophers are reformers so some idealists

are reformers since ali philosophers are idealists.
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(i) Some comedians are not tragic actors because no

tragic actors are idiots and some comedians are not
idiots.
w18 ot wefem sfuar Jams = ¥ qm

FP TEFN TG9HF TE T
(@) Symbolize the following (any three) : _ 3
frefafan = @ § fafed (B @)

(It is not the case that either she forgot or was not

able to finish.
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Either the litmus paper turns red or the solution is

acid.

ma‘rf‘azquﬁmwaammaﬁam
tf |

Thousands of animal species will become extinct if

“national agencies do not look into the matter.
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if the cost of living rises or the Government
revenues increase, then salary increases will be

granted.
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~ Use truth tables to determine the following statement

. forms as tautulogous, self-contradictory and contingent

(any one) : 4
@ poP>Q. ~N>Mp>a@. 0 .

@ p =lpvig.n

goafon fafu g Feafafan ®99 ol &1
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@ p>2a>@. ~Nl>{p>(q. 0l

(i p =lpviq '. r)j

Using truth table method determine the validity/invalidity

of the following {any one) : 4
D po>2q /. p2(p.q
(@) mvn.~n)

m /.o o~(n.~n)
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